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4.9 Linear Systems )
VN
Graph eagch of the following on the grid below:

= 2x +
y 2X +0 ﬁ.ﬁl}( X+y:3

Y

M= 1N+ (((J-"D>

fﬂﬂ% (cmggw | A e rse o
Q\SO‘\A%@V\H (? )Z\



System of linear equations: a set of equations (at least two)

Solution of a linear system: a point that satisfies both equationsin a
linear system --> the point of intersection

;('211) /

th




— = Pontof htersectionr

Ex. 1 each linear system graphically. Check part (a). 9 L/AO Wn
a)y=-2x+1 y=k-5 — m=| —
g:an‘—b b=-5 ? &r—\/}j\fﬁ
= / Y=x-5
e s :
N\
| \ﬂ - —2X 4
Solution: (2 \~%>
Check by substituting the solution in BOTH equations:
y=-2x+1 y=x-5
LS =y RS=-2x+1 LS =y RS=x-5 0@)/6:({5
o
Y SRRV A X—5 %
—— — o ( bD—H\
: i‘_i?l T |Frs egehe
t-% \:-/3 9@(0 (&\/3>
LS =g LS?RS Skhe
So lutron




No Zolution
(Since \|nes are

Earo\\\a( >



Gillian wants to join a website that allows its users to share music files.
SHAREIT charges a $6 membership fee, plus $0.75 for each downloaded
song. FILES 'R' US charges $1.25 per downloaded song. How can Gillian
determine which website she should join?

' Create a system, or set of two, linear equations to model

the Ty:t;iizr:;&m = #of songS
Qependent- = Cos+t

Step 1: Let statements
et ‘%' rep the ot sorgs Aol 0rde £

({_‘t l&\ r,%’l/ff\.Q Cos+

Step 2: Equations

SHRELT  Y4=0.95% +6
FllEse _ 4
VS yw=2sx%
Step 3: Graph both lines on the same grid
Y S 50\/\3
FlLES RUS

20—+

e 1 W=0.15(1) T6
=
¥> Solufor

(12,15)

151

101

Step 4: When is the cost the same? What else can you say about SHAREIT
and FILES'R'US

TDhoan(i@o\ L(i Sgor\%z Choose Files Ru®
o COST IS Q A ™Me
_ —Down [oad 255
v lhoth COmpani e oﬂn@ﬂ N
Homework Choost Share [+ I
p.348 C2, 1,2, 9-10 £ yow dlown o

e Than 1o



Homework
p.348 C2, 1,2, 9-10




Ex. 2:
Two companies rent trucks.

Company A charges $80.00 for the truck, plus $0.20/km
Company B charges $0.60/km.

a) Write an equation for each company's rental cost in terms of the
distance driven.

company A

company B

b) Graph both equations on the same axes.

c) Find the coordinates of the point of intersection.

d) Explain the meaning of the point of intersection.

e) Which company is cheaper if you drive 150 km? or 250 km?
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